® Instruction Sheet 860421213
COMMSCOPE

©

www.commscope.com

Ladder Rack Ceiling Mount Kit Instructions

Ordering Information

Ordering information is listed below:

Material ID Part No. Description

760083907 CRCMK3-8TR Ladder rack ceiling mount kit for 3/8" threaded rod
760083915 CRCMK5-8TR Ladder rack ceiling mount kit for 5/8" threaded rod
760083923 CRSBK5-8TR Ladder rack support bracket kit for 5/8" threaded rod

How to Contact Us

e To find out more about CommScope® products, visit us on the web at http://www.commscope.com/
e Fortechnical assistance:
- Within the United States, contact your local account representative or technical support at
1-800-344-0223. Outside the United States, contact your local account representative or
Authorized Business Partner.
- Within the United States, report any missing/damaged parts or any other issues to
CommScope Customer Claims at 1-866-539-2795. Outside the United States, contact your
local account representative or Authorized Business Partner.

Tools Required

e 9/16” or 15/16" socket and driver or open-end wrench

Parts List
Verify parts against the parts list below:
Description CRCMK3-8TR (3/8”) CRCMKH5-8TR (5/8”)  CRSBK5-8TR (5/8”)
Ceiling mount bracket 1 1 —
Ladder rack support bracket 1 1 1
Hex nuts 4 4 2
Instruction sheet 1 1 1

Ceiling mount
bracket

Installation

Ladder rack
support bracket

Ladder rack section\

Note:

The 3/8” or 5/8” threaded
rod is not included in kit and
should be obtained locally.

3/8-16 or 5/8-11 hex nut
(4 places for CRCMK3 & CRCMK5)
(2 places for CRSBK5)

O at WOI'I( © 2013 CommScope, Inc. All rights reserved Page 1 of 1


http://www.commscope.com/

	Ordering Information
	How to Contact Us
	Tools Required
	Parts List
	Installation

